N = 0l & At & Ml A

20224 A L BRI g Ot S

H
r
=
F
I
r

SN HEED
HH: =N SE

G 8= XsH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
HAII= 10 154,253,888 139,963,375 14,290,513
= 94,414,294
g 687,000
Jl 2,395,980
= 19,268,412
Al 37,488,202
He=2Xsr 5,997,598 4,159,578 1,838,020
= 633,810
g 687,000
J| 1,774,499
& 723,534
Al 2,178,755
HHd=EXSA 4,707,745 3,020,209 1,687,536
= 585,000
g 687,000
J| 1,314,512
& 474,883
Al 1,646,350
HAEJIEAEM g2 X 21,703 25,161 N 3,458
201 et 9| 15,303 17,561 A2,258
01 AFR 2t 2| bl 15,222 17,480 A2,258
Ot 2Y| 8,382
CANPEBE U HATY ARE 7Y
8,382,000 8,382
OI 2| 400
o BATHINE L=HI(BRH)
200,000 x2H 13| 400
[ DF=2=d] 6,440
o HHEIIIZEAEM =X 6,440,000 6,440
02 2324 81 81 0
OZ2Z22=22 Al 81
o AR 81,000 81
202 044 6,400 7,600 A 1,200
01 2Ll 6,400 7,600 A 1,200
OWHEIIIESEM gRF&X 6,400,000& 6,400
e EEXNSE ALY =& 69,416 71,836 AN2,420
201 et 22,316 22,736 AN420
01 AR 22l ] 10,316 10,736 AN420
OLbBt=2H| 6,546
0 HEERFA ARES F¢ 1,946,000& 1,946
o ZENY (M2, H0H0H, 8= JIFEA)
EBEEE 22 ¢ HH 4,600,000& 4 600
O+ 2,850




R~ =]
Hd=xsd
Hd=XS&

=

SA - ZE-B(EA) - NRAY - B S il &t o il
EEEEEEEEE
70,0003 x6H *23| 840
o ZAHNE NS (H3 S J0HH, &= J1F =2
) BArg 1,380,000 1,380
o A58 AMA ZAMRAR 70,0003 x2H x33] 420
o d3l8 AMd IEH2 2|
70,000 *3H 13| 210
O=&l 920
o e FRFA 920,000& 920
03 A2 Z Hl 12,000 12,000
OWEEM 2NE 10,000, 000& 10,000
ONEHEASE A 2,000,000& 2,000
202 oddl 2,400 2,400
01 = LH o4 1l 2,400 2,400
00y gR=4 2,400,000 2,400
301 LeEAF 13,500 13,500
09 AL HIXI &3 13,500 13,500
O&=2 U3 FAB4 1,000, 000& 1,000
O&= HEXEZA sl 424 1,000,000 1,000
OF2 tHud ZA=E 10,000, 000& 10,000
Ot SAES & 24 1,500, 000& 1,500
307 21201 A 31,200 33,200
03 QI HE2IHEx 9,000 11,000
OW&dcEos 2 9,000,000 9,000
11T ALS S RAEE = 22,200 22,200
OLEESF2 JI8dAM & oS3l
9,900,000 9,900
OAMNE R0l LIS 3,600,000& 3,600
OAME 2EUSEAH 4,000,000& 4,000
OH2s 3448 A2 2SI "AF8 4 &
XA got2et” 4,700,000 4,700
YA EHEUH(EX) 13,150 13,150
< 3,600
Al 9,550
307 21201 A 13,150 13,150
< 3,600
Al 9,550
11T AL SXAEE = 13,150 13,150
OWLEH AS2ASAY 13,150, 000& 13,150
< 3,600
Al 9,550
AR EAIZA 21,690 21,690
201 L2yl 16,890 16,890




M g0t

ol E=XSE
S HE=XSH

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 AFR 22l H 8,040 8,040 0
0Lt 2 2,640
0 OIEIIZEIGI R POEHIE AAHY 29
2l 160,000 %100 A * 1200 & 1,920
0 HAEZRBETA LRFI MR2RE 1Y
720,000 720
OS e D= 4,000
0 ARBTA DHLZ YIS
4,000,000 4,000
o=2g4+¢ 1,400
0 HEESICA EH2RS 29
70,0002 * 10 23] 1,400
02 2224 4,850 4,850 0
O A& ZH S X 4,850
0 HEIIERISZE AESX 4,850,000 4,850
03 A2 4,000 4,000 0
ONAZSTA NEZHZE *138& 4,000,000 4,000
202 04l 1,300 1,300 0
01 2o dl 1,300 1,300 0
OUAZSTA RER 1,300,000 1,300
301 YBtE &2 1,500 1,500 0
09 BAIAHI X 22 1,500 1,500 0
OUHARSTA 29 B4 1,500,000 1,500
303 ZA2 2,000 2,000 0
01 a2 2,000 2,000 0
OUAEZSITA T8 2e2M Z&
2,000,000 2,000
YEHES Y HJHEIYS2AHEI DK (EX) 2,000 2,000 0
[ 667
Al 1,333
201 LBt 2,000 2,000 0
= 667
Al 1,333
01 At 22l H 2,000 2,000 0
Ot =2 2,000
o MEYEHI N 2,000,000 2,000
[ 667
Al 1,333
OlSZ=H XR(BED2IHEIH)(EBX) 1,493,052 798,477 694,575
Jl 1,194,442
[ 149,305
Al 149,305
301 YBtE &2 1,493,052 798,477 694,575




2N
X ZH -
L= B

el

Rl
Hd=X
GESEEPN

o o &

PNl
&
&l

[

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Jl

= M

1,194,442
149,305
149,305

2
OMAxs 82208 IH 2=sH s N

1,493,052,000&

Jl

H

Al

1,493,052

1,493,052
1,194,442
149,305
149,305

798,

477

694,575

Il

= M

17,669
14,133
1,768
1,768

,535

134

Il

2l

Al

17,669
14,133
1,768
1,768

,535

134

17,669,000&

Jl

H

Al

17,669

17,669
14,133
1,768
1,768

.535

134

>
B~
an
o
Bl
o
o
0x
0z
11
P
w
bl
o
HT
P

= M

201,000

60,300
140,700

188,

500

12,

500

Al

201,000

60,300
140,700

188,

500

12,

500

)
P
Bt
an
o
I o
>
o
0
0z
i
>
]

A&
201,000,000

= M

201,000

201,000

60,300
140,700

188,

500

12,

500

OLOISS X (EX)

=z N W

835,715
585,000
100,286
150,429

850,

000

A4,

285

307 glztol &

= MW

835,715
585,000
100,286
150,429

850,

000

A 14,

285

1A SXAIE 2 =

O0t0lEE MHIA0E B2 X

4

FY

s §
[=]

458,489,000&

O00IE8 MHIAXIE 2g8l 377,226,000

= N A

835,715

458,489

320,942
55,019
82,528

377,226

850,

000

A4,

285

_4_




SH: KIS
Y e=XEE

Sel: HE=XET (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 264,058
< 45,267
Al 67,901

OLOIE 20l E+u|H XNA(EX) 8,804 0 8,804
< 2,641
Al 6,163

307 glz2tol & 8,804 0 8,804
< 2,641
Al 6,163

11T M SXASE EX 8,804 0 8,804
OO00I=20l E+usHl XA 8,804,000& 8,804
< 2,641
Al 6,163

OlOIES 820l AH2HAH XNA(BEX) 1,800 1,800 0
< 540
Al 1,260

307 21201 A 1,800 1,800 0
< 540
Al 1,260

11T MISRASEX 1,800 1,800 0
OO0t0IS 20l AZH&Hl XA 1,800,000 1,800
[ 540
Al 1,260

A28 3=y dEh 2R (BX) 134,098 123,816 10,282
J| 67,049
< 33,524
Al 33,525

307 21201 A 134,098 123,816 10,282
J| 67,049
= 33,524
Al 33,525

11 AL SXAEE X 134,098 123,816 10,282
O dEL 24X 134,098, 000& 134,098
J| 67,049
< 33,524
Al 33,525

SZMgA 29 FHN(2E) 18,904 18,907 A3
< 5,671
Al 13,233

307 glz2+ol & 18,904 18,907 A3
< 5,671
Al 13,233

11T M SXASEEX 18,904 18,907 A3
Oy 4L 29XH 18,904,000& 18,904
< 5,671
Al 13,233




= - — SHE|
CHB G (B) - HRAMY - BES e 2t
ZAToHA o =Hl, 28 XNB(BX) 4,000 4,000 0
| 2,800
< 600
Al 600
307 gl2tol & 4,000 4,000 0
J| 2,800
< 600
Al 600
11T AISI S XA E = 4,000 4,000 0
O8=8 Tl 2 =Hl 4,000,000& 4,000
| 2,800
< 600
Al 600
ZATMNA N2, 3=SEL2 08 (BX) 10,418 10,418 0
| 7,293
< 1,562
Al 1,563
307 glz2+0l & 10,418 10,418 0
| 7,293
< 1,562
Al 1,563
11 AISI S XA E X 10,418 10,418 0
O&8=g8 Ikt Nzsls 2208 29
10,418,000& 10,418
| 7,293
< 1,562
Al 1,563
SEAMGL SAX MM (BEX) 6,480 6,480 0
< 1,944
Al 4,536
307 glz2+ol & 6,480 6,480 0
< 1,944
Al 4,536
11 AISISAAISEE = 6,480 6,480 0
OHEZS4E AL SAL = 6,480,000 6,480
< 1,944
Al 4,536
=Y Ik Ness Z208y 2 ozl XA ( 1,960 2,171 A1
8X)
| 1,372
= 294
Al 294
307 glz2tol & 1,960 2,171 A211
| 1,372
< 294
Al 294
11 ASISAAISEE = 1,960 2,171 A211




S od=EX

VRS S

o o &

PNl
&
&l

[

|
NGRS TN

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

OJtE =2 Ul 22l X2 1,960, 000&

X

Al

1,960
1,372
294
294

H

Al

1,800

540
1,260

2,000

A 200

307 glztol &

= M

1,800

540
1,260

2,000

A 200

1A SXAIE 2 =

O0ls Hdod NFHl 28 X
1,800, 000&

Al

1,800

1,800

540
1,260

2,000

A 200

0K
O
Ho
=)
°
0
sl
Ho
02
H
P

Il

H

Al

54,846
27,423
10,969
16,454

53,828

1,018

307 21201 A

=z HmnY

54,846
27,423
10,969
16,454

53,828

1,018

1A SXAIE E =

OsS=S0tL=H 284 X

o

54,846,000

Jl

= M

54,846

54,846
27,423
10,969
16,454

53,828

1,018

0H

SSO0tLUsH SAX = (8X)

t

Al

2,240
672
1,568

1,440

800

307 glz2tol &

f

Al

2,240

672
1,568

1,440

800

1A SXAIE 2 =

OZSS0tUsH SAL =€

2,240,000

= H

2,240
2,240

672
1,568

1,440

800

EHH HE(EX)

= A

1,787,000
687,000
100,000

1,000,000

813,000

974,000

401 AIEHIZ 2 HYI

=

1,787,000
687,000
100,000

1,000,000

813,000

974,000

01 AlZ dl

1,775,741

807,878

967,863




SN HEED
HH: =N SE
S RNCEEES =S EERED

SA - B (A) - NTAY - BES 0l &t o4

=

M
2Hm
==
£l
Ol
0y

OJt=dE A

[

1,787,000, 000& *99. 3699% 1,775,741
682,722
99,370
993,649
03 Al& £ CHHI 11,259 5,122 6,137

O=4H 1,787,000,000& *0.63% 11,259
4,278

630
6,351

= N

e
it

= M

e
oY
A=)
0
He
[m]
Mo
ton

s 3 NE 1,289,853 1,139,369 150,484
48,810
459,987
248,651
Al 532,405

n X~ 1

2208 & UE30E A SE N ALY 25,500 27,760 A2,260

307 21201 & 25,500 25,500 0

11T M SXALSE EX 25,500 25,500 0
OCU=E3 =8 8ite 13,500,000 13,500

OLURSIIIE "Z™AL| WH=D)|"
12,000, 000& 12,000

A2HE 2 UEs=E NdH 2H(2X) 528,280 431,980 96,300
Il 264,140
79,242
184,898

= M

307 21201 A 528,280 431,980 96,300
Il 264,140
79,242
Al 184,898

H

A S XAIE 2 = 528,280 431,980 96,300
O2Z0tE 2 U255 XM 23
528,280,000 528,280

264,140
79,242
184,898

=z Hn Y

pea}
i
09
Ho
He
pea}
i
0z
e

S SRUSAHHA XE(BX) 163,008 157,824 5,184
Jl 81,504
24,451
Al 57,063

H

307 21201 & 163,008 157,824 5,184
81,504
24,451
57,063

el R

A S XA E = 163,008 157,824 5,184
OC23Its L2us AHg 163,008,000& 163,008
Jl 81,504

24,451
Al 57,053

H




2N
X ZH -
L= B

el

ALY L OS5 IS FF X

2

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ch23ts Ardl2el(BX) 35,850 31,825 4,025
J| 17,925
< 5,377
Al 12,548
307 gl2tol & 35,850 31,825 4,025
J| 17,925
< 5,377
Al 12,548
11T M SRAISE EX 35,850 31,825 4,025
OUESILE At 2tel 35,850, 000& 35,850
J| 17,925
< 5,377
Al 12,548
ZE012X ASLSXNA(EX) 20,000 20,000 0
J| 10,000
< 3,000
Al 7,000
307 glz2+0l & 20,000 20,000 0
J| 10,000
< 3,000
Al 7,000
11T MISRASEX 20,000 20,000 0
O =20 usI2 2¢ 20,000,000 20,000
J| 10,000
< 3,000
Al 7,000
ZE0|2K SHIAAMUA XNB(EX) 63,576 30,050 33,526
J| 31,788
< 9,537
Al 22,251
307 21201 A 63,576 30,050 33,526
J| 31,788
< 9,537
Al 22,251
11T ALS S XAEE = 63,576 30,050 33,526
OZE0|2A SHAMHA 63,576,000& 63,576
J| 31,788
= 9,537
Al 22,251
Ol H=SZEH(BEX) 33,943 30,070 3,873
J| 16,972
= 5,091
Al 11,880
307 glz2+ol & 33,943 30,070 3,873
J| 16,972
= 5,091
Al 11,880




5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 33,943 30,070 3,873
002 I3y 33,943,000 33,943
J| 16,972
< 5,091
Al 11,880
CEsIts g XN (Ex) 75,316 71,040 4,276
J| 37,658
< 11,297
Al 26,361
307 21201 A 75,316 71,040 4,276
J| 37,658
< 11,297
Al 26,361
11T M3 SRASEEX 75,316 71,040 4,276
OOU=2sIE e s X& 75,316,000 75,316
Jl 37,658
< 11,297
Al 26,361
Ct2sits XEdH SAUETIA(BR) 35,000 35,300 A 300
< 14,000
Al 21,000
307 glz2tol & 35,000 35,300 A 300
< 14,000
Al 21,000
11T M SXASE EX 35,000 35,300 A 300
OC =3 IEXNJHEH SAE X&
35,000,000 35,000
S 14,000
Al 21,000
CH2stE XM SMALN SX+9 X (BEX) 42,880 42,700 180
< 12,864
Al 30,016
307 21240 42,880 42,700 180
< 12,864
Al 30,016
11 ALSI S XAEE = 42,880 42,700 180
OUZaIE NJAEH SAXG 22X+
42,880,000 42,880
< 12,864
Al 30,016
Szgnssy 2Y(2X) 121,300 120,000 1,300
< 42,455
Al 78,845
307 21201 A 121,300 120,000 1,300
< 42,455
Al 78,845




AR GRS =
3 dd=Nsd

S9l: AN L O3 IE FE Y CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

11T M SRASE EX 121,300 120,000 1,300
O==2E otssd 29X& 121,300, 000& 121,300
= 42,455
Al 78,845

ZE012X NPEH UK (EX) 11,580 10,500 1,080
< 4,632
Al 6,948

307 21201 A 11,580 10,500 1,080
< 4,632
Al 6,948

TEEVEE: 11,580 10,500 1,080
OZE0/2X HYEY DS 11,580,00084 11,580
< 4,632
Al 6,948

2E0/UR SN (2F) 8,000 14,400 26,400
= 3,200
Al 4,800

307 21201 A 8,000 14,400 A 6,400
= 3,200
Al 4,800

11 ALS S XAEE = 8,000 14,400 A 6,400
OZE0|2A SR A ALY 8,000,000& 8,000
< 3,200
Al 4,800

ezt 44 I2XNA(BEX) 7,000 6,300 700
< 2,800
Al 4,200

307 glz2tol & 7,000 6,300 700
< 2,800
Al 4,200

11T MISXAISEX 7,000 6,300 700
0023 ol M2 X 7,000,0002 7,000
= 2,800
Al 4,200

Ct23ts D8 Us0| X (EX) 16,000 29,000 A 13,000
< 4,800
Al 11,200

307 21201 A 16,000 29,000 A 13,000
< 4,800
Al 11,200

11T M3 SXAISEEX 16,000 29,000 A 13,000
OLUE3IIE DEUS0 A 16,000, 000& 16,000
< 4,800
Al 11,200

FHot 90| NEXNA(BX) 97,620 75,620 22,000




AN GEIEY
g d=1sd
ool AUNY U RS IHE IE A EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 48,810
= 24,405
Al 24,405
307 i+l & 97,620 75,620 22,000
= 48,810
< 24,405
Al 24,405
11T MISXASEX 97,620 75,620 22,000
OFHY AD10t5 XA 97,620,000 97,620
= 48,810
< 24,405
Al 24,405
A2E A =4 22w N (EX) 5,000 5,000 0
< 1,500
Al 3,500
307 21201 A 5,000 5,000 0
< 1,500
Al 3,500
11T AR SXAIEE =X 5,000 5,000 0
OH2E HE 24 BRUs X2
5,000,000& 5,000
= 1,500
Al 3,500
Lo =XsaA 120,146,210 110,401,445 9,744,765
= 81,717,252
p] 244,454
< 10,903,021
Al 27,281,483
Lo=EXANE &= 1,859,040 2,330,583 ANA4T71,543
= 169,500
< 82,850
Al 1,606,690
229 ¥ Stk d=524F JIsE2T 1,131,760 1,229,760 98,000
201 L2l 2,760 2,760 0
01 At 22l 2,760 2,760 0
OB ==EH| 2,760
0 ¥2Y U BEER = T YREA
2,760,000 2,760
401 AIEBI L 20HEI 100,000 100,000 0
01 A& Hl 100,000 100,000 0
OZ2Y 2 &=2Etel #=59 & HES
100,000, 000& 100,000
402 RIZ2HXt20l ™ 1,029,000 1,127,000 298,000
01 212t 2 AL E = (REM ) 1,029,000 1,127,000 98,000
OZ2% & s=Etel 8= & JIsEd N
A 1,029,000, 000& 1,029,000
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SH: HEHED
Ha: Lo=XEH

Sl To=TAE BB CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Zd2Y ¢ St2Etel =AY JIsEY(NIL=AE = 32,000 308,080 A 276,080
PEA)IER)
< 32,000
402 RIZ2EXt20l ™ 32,000 308,080 A 276,080
< 32,000
02 LA TEALEZ(0IETHR) 32,000 308,080 A 276,080
OZ2E JIsE2Z &€ e+ N2
32,000,000& 32,000
< 32,000
Nad=sMad ANFEA (S 2Ee #2998 Z4)( 216,000 216,000 0
HEALY)
402 2I2H X201 M 216,000 216,000 0
01 212t 2 A E = (REMTH ) 216,000 216,000 0
Ost=ttel =2 & Arxd JIsE2d, &l
22ArS 216,000,000 216,000
Lo =NAE JIs2d 140,280 223,280 283,000
201 Let24d] 35,280 23,280 12,000
02 2324l 35,280 23,280 12,000
Oz=22= & HA 12,000
o JHAHOIEEZE, NEHLANOESE HMIIR
= 12,000, 000& 12,000
OAEZHI S 23,280
o Lo=EXEE AMEFHIFX 19,400, 000& 19,400
o ZH AOEEF MEFZH KX
3,880,000 3,880
401 Al HI K 201 I 105,000 200,000 295,000
01 A& HI 105,000 200,000 A 95,000
OZH NBLHEANOESZE LI XS A
105,000, 000& 105,000
CLOQAANLEES(IIsELY) ME(BX) 339,000 353,463 A 14,463
= 169,500
< 50,850
Al 118,650
401 AIEHI L 2CHEI 339,000 61,211 277,789
= 169,500
= 50,850
Al 118,650
01 A& Hl 336,419 60,661 275,758
OZ20I& HE=+ 39,000,000& *98.92% 38,579
= 19,290
< 5,787
Al 13,502
OEYSX HE= 300,000,000& *99.28% 297,840
= 148,920
< 44,676




2N

P IlE=n}

By Lo=xEd
e SoEXAE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 104,244
03 AlE 201 | 2,581 550 2,031
O820I2 HES 39,000,000& x1.0789% 421
=2 210
= 63
Al 148
OEAdSK MES 300,000,000 *0.72% 2,160
= 1,080
& 324
Al 756
LOoEIXANE 29 15,167,246 15,316,045 A 148,799
= 705,236
= 4,732,432
Al 9,729,578
d2 L St2Ele #HEQE 2 A3 773,240 742,740 30,500
201 gBt24Ay| 142,300 142,300 0
01 AP 22| H| 142,300 142,300 0
OLet=24| 920
o 1A 1E8'2Ete] =2 & HFEF&X
920,000& 920
[ PE=2=d] 1,380
o St2Eiel #=9o & Y JF2Y 43 =X
1,380,000 1,380
OYx= 140,000
o A2 Y otOtel At Xt 140,000,000 140,000
202 044 940 440 500
01 2L Y| 940 440 500
O3 SER B=0F U Z2Y M5 AR
& 940,000& 940
301 et M= 630,000 600,000 30,000
01 M EXE 2562 630,000 600,000 30,000
OSt2EIel =9 & Y FI HE2Y 294,
B8z = 630,000,000 630,000
FAR2Y 29H| XK (29|, Lty ,2tAH ) (B X) 1,171,582 1,148,570 23,012
= 234,316
Al 937,266
307 ciztol A 1,171,582 1,148,570 23,012
= 234,316
Al 937,266
10 A SAANEEHESIGHEX 1,171,582 1,148,570 23,012
OZ2Y 2%Hl XN (2|, ey, 2-AH])
1,148,570,000& 1,148,570
= 229,714
Al 918,856




SH: HEHED
Ha: Lo=XEH

Chel: LosXAE 29 (=& J)
= - _ L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O0ldD BA2Y 29H X2 (2Z4l, e,
2HAH]) 23,012,000& 23,012
= 4,602
Al 18,410
d2Y Z29Xddy 29N (B2Y SEI| ety 1,410,472 1,411,840 A 1,368
J el 2= XE)(EX)
= 705,236
< 141,047
Al 564,189
307 21201 A 1,410,472 1,411,840 A 1,368
= 705,236
< 141,047
Al 564,189
10 ALSISXAIEEE2GHEX 1,410,472 1,411,840 21,368
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Al 408,188
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< 136,062
Al 408,188
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OXGotsdy gus: 2t X
544,250,000 544,250
< 136,062
Al 408,188
NEOtSHE SAXNHRMALB(EX) 52,120 56,520 24,400
< 10,424
Al 41,696
301 LEXZ 52,120 56,520 A 4,400
< 10,424
Al 41,696
01 MEIEBEZE+06l= 52,120 56,520 A 4,400
OXYG0tsdE SALR MM H 52,120,000 52,120
< 10,424
Al 41,696
ANEotsSHEH ZT208dl £ NA(BX) 85,332 79,968 5,364
< 25,600
Al 59,732
307 21201 A 85,332 79,968 5,364
< 25,600
Al 59,732
11T MISAASEX 85,332 79,968 5,364
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85,332,000& 85,332
< 25,600
Al 59,732
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OAEZEHl S Xl 2,000,000& 2,000
307 21201 A 28,800 24,000 4,800
05 BIZHRIE 3 28,800 24,000 4,800
OO =ssdH 294 XI&  28,800,000& 28,800
CHEEN SS4dEH 22l X2 (EX) 107,544 106,080 1,464
= 53,772
< 16,132
Al 37,640
307 gl2tol & 107,544 106,080 1,464
= 53,772
< 16,132
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O30t 18823 29  194,838,000& 194,838
77,936
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= mnH
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H
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o
0
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Y
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301 LEIEN = 8,640 7,560 1,080
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H
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= 2,592
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301 LEEHS 3,600 1,800 1,800

_28_




A 08IHED
Bu: 98 Y E=NZA
el otsSEXSsA fEH)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
=) 1,080
Al 2,520
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301 LetE2H S 2,400 1,200 1,200
=) 720
Al 1,680
01 MEI2BZE 06z 2,400 1,200 1,200
OZSHEINE(OEE) AN EE¢
2,400,000 2,400
=) 720
Al 1,680
OIS SXAIE ME0sS XNAANL(EX) 9,780 3,940 5,840
& 2,934
Al 6,846
301 LetE2H S 9,780 3,940 5,840
< 2,934
Al 6,846
01 MEI2EZE 405z 9,780 3,940 5,840
OOSSXNAE HE0tsS XA
9,780,000& 9,780
& 2,934
Al 6,846
ots+g X (EX) 3,161,922 3,037,000 124,922
= 2,213,346
< 474,288
Al 474,288
301 LetE2H =S 3,161,922 3,037,000 124,922
= 2,213,346
< 474,288
Al 474,288
01 Ml2EZE %06z ,161,922 3,037,000 124,922
Oots=+=g X& 3,161,922,000& 3,161,922
= 2,213,346
= 474,288
Al 474,288
Ots+g 2gHl X2 (Bx) 336 900 A 564
= 235
=) 34
Al 67
201 et 336 900 A 564
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Al 14,400
301 LEAS 18,000 19,000 A 1,000
< 3,600
Al 14,400
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Al 14,400
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8x)
= 17,740
< 7,096
Al 10,645
101 124 dl 35,481 32,644 2,837
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< 7,096
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OOIS SR WA ALSIE 2 Xtel At
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Al 10,645
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o MI|otMAe U =5 2,400,000& 2,400
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 800
Al 800
OlSMEAIE LAIESH X (EX) 3,600 0 3,600
== 1,080
Al 2,520
307 2Iz2t0| A 3,600 0 3,600
= 1,080
Al 2,520
11T A EXAIEEX 3,600 0 3,600
OIS MEAAE LAESH K& 3,600,000& 3,600
& 1,080
Al 2,520
2SMEDIAE(OEE) AN 22HH XK (BEX) 1,441 0 1,441
& 432
Al 1,009
307 giztol A 1,441 0 1,441
& 432
Al 1,009
11T A EXAIEEX 1,441 0 1,441
OZSSMEIIAE SAHAF 21HHl FOHX&E
1,441,000 1,441
& 432
Al 1,009
OIS &S Al =24 19,000 0 19,000
201 LBt 9| 15,000 0 15,000
03 A2 H H| 15,000 0 15,000
OOls&ls NEZEHEZS N0 &4
8,000,000& 8,000
O0elol 34H 93 29| 7,000,000 7,000
301 dEtE M= 4,000 0 4,000
09 #HAIAHI XIS 2 4,000 0 4,000
QOOlSast NEZEHEXAS 2Nz 29
2,000,000 2,000
Ol EAYE 935 &5 &AH| 2,000,000& 2,000
SHHIIoHOtSEH EX(EX) 342,900 0 342,900
= 137,160
= 102,870
Al 102,870
405 XHA&HF S HI 342,900 0 342,900
= 137,160
o=t 102,870
Al 102,870
01 XML 2 FF S| 342,900 0 342,900
Osjulsiotsa e &X 342,900,000& 342,900
= 137,160
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Al 34,434
307 2Iz2t0| & 114,778 0 114,778
= 45,910
= 34,434
Al 34,434
10 MM SXAANEEHESIGHEX 114,778 0 114,778
OstiIloHolsa e 24Hl A&
114,778,000 114,778
= 45,910
& 34,434
Al 34,434
OISl =F= HLFH Y SAXR(2F) 10,000 0 10,000
2 5,000
Al 5,000
201 Yete2 | 10,000 0 10,000
2 5,000
Al 5,000
01 AP 2t 2| H| 10,000 0 10,000
OLet4=24| 10,000
0 OIS =HE HAFY 7Y
10,000,000 10,000
= 5,000
Al 5,000
HOHOIS YYYEBEZ 17,236 0 17,236
(2x)
J| 12,066
= 2,585
Al 2,585
301 et ™= 17,236 0 17,236
J| 12,066
o=t 2,585
Al 2,585
01 AISIE & A %52 17,236 0 17,236
O&Ots YAA=E X2 17,236,000 17,236
J| 12,066
= 2,585
Al 2,585
CetHeEsdE SAR =2 (BEX) 7,360 0 7,360
& 1,472
Al 5,888
307 giztol & 7,360 0 7,360
& 1,472
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Al 4,608
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Al 1,280
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301 LEEAZ 72,000 0 72,000
01 MEI2EZE+06l= 72,000 0 72,000
OCHRHEDIIE 2 =H X 72,000,000& 72,000
AN XNz XA 6,000 0 6,000
301 LPEXF 6,000 0 6,000
01 MEIBEE 2063 6,000 0 6,000
OL2tE &3 XN& 6,000,000 6,000
KNLotsHlEH SALR 148l FIOUKA(EX) 34,749 0 34,749
= 10,431
Al 24,318
307 21201 A 34,749 0 34,749
< 10,431
Al 24,318
11 AL SXAEE = 34,749 0 34,749
OXIG0otsHEH SALAL o8 =IHX&
34,749,000 34,749
< 10,431
Al 24,318
BFAMNE 22X 18,056, 128 17,058,064 998,064
= 8,087,600
= 5,603,640
Al 4,364,888
oo 249X 548,300 404,554 143,746
201 Let24E| 2,400 2,400 0
01 At 22l 2,400 2,400 0
OB ==EH| 1,500
o B2 ¥RFA 1,500,000& 1,500
O=&l 900
o elold gR=a 900,000& 900
202 o4dl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OESXE Z2FH 1,000,000 1,000
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301 LEHZ 162,000 162,000 0
01 MI2ZE+5l= 162,000 162,000 0
OZIIAE H0lE SAR MRIMHLH K&
162,000, 000& 162,000
307 glz2tol & 332,900 189, 154 143,746
11 AL S XAEE = 332,900 189, 154 143,746
OMEAIZE HE Helol & 22d N
110,000, 000& 110,000
O &ot3tsl 7,300,000& 7,300
O0elold et ZH Jtdl XI&
19,000, 000& 19,000
OUMA 2BSDHA A LoAY
20,000,000& 20,000
000y giels ==5 XI& 3,000,000& 3,000
O old X2 NJAZE 86,400,000 86,400
ONE0ld SJ/183FI 2gH XA
20,000, 000& 20,000
ONE0lE S2tAH XA 67,200,000 67,200
401 AIEHI L 201 20,000 50,000 230,000
01 A& HI 20,000 50,000 30,000
O=23E0He0& HE= 20,000,000& 20,000
405 TtabH S| 30,000 0 30,000
01 HatE ESFH S 30,000 0 30,000
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30,000,000& 30,000
WX oA NI (EX) 6,853,400 6,048,600 804,800
= 3,426,700
< 1,713,350
Al 1,713,350
307 21201 A 6,853,400 6,048,600 804,800
= 3,426,700
< 1,713,350
Al 1,713,350
11T AS S RAEE = 6,853,400 6,048,600 804,800
OEsuXA o244 XA 6,853,400, 000& 6,853,400
= 3,426,700
< 1,713,350
Al 1,713,350
HEloly ExAZWA XA (EX) 1,096,000 917,400 178,600
= 548,000
< 274,000
Al 274,000
307 glz2+ol & 1,096,000 917,400 178,600
= 548,000
= 274,000
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589,700
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Al 22,550
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= 11,700
< 5,850
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11T MISAASEX 3,800 3,994 A 194
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Al 13,750
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